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Aritmetik for eksponenter (negative eksponenter)

(−4) + (−2) =2 (−9) + (−2) =

(−10) + 10 =2 5 − 1 =(−1)

9 − 6 =(−2) (−6) + 7 =(−1)

9 − (−6) =(−2) 6 − 9 =(−2)

1 + 4 =2 (−1) − 7 =2

6 + 6 =(−2) (−4) − (−4) =2

10 − 2 =2 2 + (−2) =2

(−5) + 2 =2 10 + 10 =

7 + (−6) = 10 − 10 =2

(−9) + 7 =(−2) 9 − (−4) =
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Aritmetik for eksponenter (negative eksponenter)

(−4) + (−2) = 142 (−9) + (−2) = (−11)

(−10) + 10 = 1102 5 − 1 = (− )(−1)

5
4

9 − 6 = (− ) = (−5 )(−2)

81
485

81
80

(−6) + 7 = = 6(−1)

6
41

6
5

9 − (−6) = = 6(−2)

81
487

81
1

6 − 9 = (− ) = (−8 )(−2)

36
323

36
35

1 + 4 = 52 (−1) − 7 = (−6)2

6 + 6 = = 6(−2)

36
217

36
1

(−4) − (−4) = 202

10 − 2 = 982 2 + (−2) = 22

(−5) + 2 = 272 10 + 10 = 20

7 + (−6) = 1 10 − 10 = 902

(−9) + 7 = = 7(−2)

81
568

81
1

9 − (−4) = 13
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